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@EEFEIE 2 ik,
/ D=G-G/10, G=D+D/9.
@I IET 2B 2Tu=50m.
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@SR EZ L. 1800 =72

@ik BESUER 2 Helk. 2000 =my.

Bz =AEHK

@sin(90°—A) =cosA.
(®cos(90°—A)=sinA.
®@tan(90°—A) =cotA.

cosecA, secA, cotA 2751 sinA,
cosA, tanA 2Z B Bt k.
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@sm A= g‘ﬁ @®cosecA= ﬁg
08 A= A = SH
®cosA= o @secA = T
@tanA—iE%’%. I CcotAzgg

@versA=1—cosA. CcmcraA 1—ginA.

MAZ=fAEY

@sin(180°— A) =gin A.
®cos(180°—A) = —cogA.
1 @tan(180°—A) = —tanA.
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@®@ginAXcosecA=1.
@cosAXsecA=1.
@tanAXcotA=1.

@sin?A+cog?A=1.
(@®sec?A=1-+tan?A,

A coshA
tan A=A =CosA
ioten cosA’ SECOtA sinA’
@sin A<<tan A<secA.
®cosA<cotA<coszecA,

BAZ=AEY

@sin(—A)= —ginA.
(®cos(—A)=cosA,
@®@tan(—A)= —tanA.

(®cosec?A=1-4cot?A.

9+ A F = 45 B

@sin(90°+4) = cos A.
@cos(90"+A) = —ginA.
@tan(90°+A) = ~cotA.
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(®=in(180°+ A)= —ginA.
@¢cos(180°+A) = —cosA.
@tan(180°4-A)=tanA.

270°
@gin(270°—A) = —cosA.
@cos(270°—
@tan(270°—A)=cotA.

A)= —ginA.
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2T0°+A 2 = 44 & I
@®gin(270°+A) = —cosA.
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®tan(270°+A) = —cotA.

gin A.

360°—A Z = A

@:in(360°—A)= ~ginA.
@cos(360°

®tan(360° —

~A)=cosA.
A)=~tanA.
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@ginC+ginD=2 sm——cosT-

@sinC~sinD= ZCOSC;D ¢~ D-
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@®@sin(A+B)=¢in AcosB+{-2osAsin B.
@gin(A=B)=gin A cosB ~cos Agin B.
(@®@cos(A+B)=cogAcosB~ginAsinB.
(@cos(A—B)=cosAcosB+sinAginB,
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@®@sin(A+B+C)
=sinAgosBcosC+cosAsinBeosC
+cosAcosBgin C—gsin Asm Bgin C.

@®cos(A+B+C)
=cosAcosBcosC—~cosAsinBginC
—ginAcosBsin C—gin Asin B cos C.

@®@tan(A+B +C) = (tanA + tanB 4 tan C
—tanAtanBtanC)/(1 ~tanAtanB
—tanBtanC —tanCtanA)

@cot(A + B + C)=(cot A X cotB X cot C
—cot A—cot B—cot C)/(cot B cot €
+cot Ccot A+cot A cot B--1).

@#% A+B+C=90, R
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1 =tanAtanB+tanBtanC+ tanCtanA.

cotAcotBcotC=cot A+cotB+cotC.
@% A+B+C=180° H]

tanA+ tanB+tanC =tanAtanB tanC.

cotBcot C+cotCcotA+cotAcotB=1.

B AZ= K

@gin 2A =2gin AcogA.
@®@cos 2A =cos?A — sin2A
=2cos?A—-1=1-2gin2A.

2tanA

®@tan 2A = I —tanh’

op = COPA=1
oot A= 2cotA
@sin3A=3ginA—~4sin3A.
(®cos 8A =4 cos3A = 3cosA.
3tanA—tan3A
1—-3tan2A
cot?A —3cotA
3cot?A—1

@tan A=

@cot3A=

®tan? = (- 11V TFtan?h)/tanA

=(~1-4secA)cotA.

ERAZ=AEEK
®cos(n360°+A) =cos A.
@sin{n:180°+(—1)nA} =sgin A.
@®@tan(n-180+A)=tanA.

B2 = 5 M

A _ ~/1+cosA
@cosge:l: o

B N/I_COSA
@sm—z—_:]_- 5

A
®2 cosE

=4-A/1+gin A+A/1 —sinA.

@251'.!1% =+A/ 1 +sin AFV1—ginA.
@V2sin(—g— +45°) =2V 1FsmA.

@Vzcos(%+45°)=:!:vm.
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®@b2=¢2+a?—~2cacosB
@c2=a2+4b%=2abcosC
@cosA=(b2+c2—a?)/2bc
@®cosB=(c2+a2~b2)/2¢a
@cosC=(a2+b2—¢?)/2ab

RXFEE s=3(a+b+e).
A_,[=b)(=c)

@a:bcos(2+ccns8}

g be
@sin-g- = ECL_ES_—;)
@Sm - ,\/ m
@cosg - S(SI; a)
@cost = E(T;b)
©c09% = S(SG—E) c)
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@(c+a)sin 3B=> cos1(C—A)

@®(b+ c)sin }A =acos3(B~C) }
 @(a+b)siniC=ccos}(A—B)

@lﬁcot % = tanB2;c
@-z—;—‘;cotg = tanchA

a-b .C_. A—B
©a+ bcot i tan—z

@sinA:zA_ sinB:z‘A,
be ca
18 A=Vs(s—u)(s—-b)(s—c)
@r:(s—a)‘:an»g-. ’1=8ﬁallg}
5 c
ra—slan—z-

®@ry=s t.an%-.

@ o Z Rt =3 4/(b2 +c2+2bc cosA).

2be cos%—

@ A 2!"!:’%5:‘%%——1)_’_—6

2be cos.A

@A ZH =i = cz

= b2gin AsinC
@A———ab RN 2sinB

=4s(s—a)(s—b)(s—c)=rs

=ri(s—a)=ry(s—b) =ry(s—c)

abe.
4R
@2 AR 2 ER

1
= -Ehaa =

=4/ [(e=a)(s=b)(s=c)(s~d)}.

@M B BAIIA T 2 Bk = Vabed.
@IEZ A2 i%0E r=a/2tan :—

@IEZ fi2p® R=a/2sin%.
@RET = %stin2—7=nr2tan1-
CAT n
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(@®(co8 8+7gin )" = cosng +¢sin ng.
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1
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+2(n—1)8} = TV +sm{a+ At } 0.
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©n BBWEE, o~ 1=(=1)(@+1)(a? - 2uc0s" +1)(z2 ~2zcos "’+1)x
------ {a- 2ncod =4 4 1}{x2- 2zcos™ =2t 1},
@nﬁﬁmﬁ,x"—l=(z—l)(xz-2xcoszl+1)(x2-2wos4"+1) ..... it wri it st
e a ~ 2000 =5 ~ 241l a-20c0s" =1 1r+1}
OfF:7.1 "3 zn+1=(z?—2zcos£+1)(xz-zxcosﬂf+1)(xz 2xcos5_7r+1)x ....... »

1

(r2 — 9z cost—2 2 + 1)(x2—2xcos—;~1r+ 1),
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@®cosa=cosbcosc+sin bsin ¢ cosA.

/N

@®cosb=cos ¢ cosa-sin ¢ sin a cosB.

®@cos ¢ =cogacosb-+sin asinbd cosC.

sin A 2 2 X
@®sinA = A/(1 = cos?a — cos2b — cos2¢ + 2cosa

Xcosbcose)/(sinbsine)

=2n/(sin asinbgin ¢).

A ZARRK

CQm _dBm(s b)sin(s —¢)

gin bsin ¢

oo __~/81ns sm(s—a)_

gsinbsin ¢

@tan o= valn(s —b)sinfs—¢)

gin ssin(s —a)

=2n/(sin bgin ¢).
18 {sinssin(s—a)sin(s =b)sins — ¢)}?

=nJ 28=a+b+c.

@b ER AR
@cotasinbd =cotAgin C+cos b cosC.
@cotbsina =cotBsin € +cosacosC.

@®cot bgin ¢ =cotBsin A4-cosc cosA.,

S L S A -

b _ cosScos(s ‘A)
@sm v smBsmC nBsinC

a _ [cos(S—B) S-C
@cos?—voq €os )

ginBgsin C

@®coticsin b=cot Cgin A4cosbcosA,
(®cot ¢ sina=cot Cgin 8 +-cosacosB.

@®cotasin ¢ =cotAsin B-+cosccosB,

E % K 4

@sin A/sin a=sin B/sin b =sin C/sin ¢

a_,/__ cosScos(§=A)
©t"“§‘\/ 205(8 —B)cos(S ~C)'
18 28 =A+B+C.
Napier K 24 =%

@mn}(A+B)—% ot 8

@tan}(A—B)= :‘;‘igagg ot -

_cosi(A—=B)
@tani(a+d) = mtan—
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@tani(a~b)= :E—ié:;—:;tan%- @cotr= le{cosS +¢co9(S—A)+cos(S—B)
+cos(8=C)}.
Delambre & K #) X ‘ @fanry = éin(’;—_a)=tan%sin 8
@¢in3(A +B)cog ¢ =cos4(a—b)cosiC. = %‘Eﬁin a

@®@sin (A ~B)sinie =sin4(a—b)cosiC.
@®cosi(A+B)cosic =cosi(a+b)siniC.
@®cos3(A~B)sind¢ =gin§(a+b)sini C.

R E A= AR
B A
@sinb:si.uBsinc}

@®@gin a=gin A 8in ¢
@®@tan g =cos Btan ¢
@tan b=cos A tan c}
@tan b=tanBsina
@tana=tanA sgin b}
@tanA tanB=1/cos ¢
@cot AcotB=cos ¢ }

SR RO B N e

i =tan£—sin(s -a)

i ur= sin g 2

_siniBsiniC..
T sina

- . N y
" ScosiAcosiBcosiC

14 N={ —cosScos(S—A)cos(S~B)

xcos(S - C)}2.

A N
" 2cos3Asin 3Bsin3C

@cotry= Qlﬁ{ =088 — cos(S = A)
+cos(S—B)+cos(8§=C)}.

_ _tanja _2 sindasinibsinie
cos(S —A) n

= 2ln {sin(s=a)+sin(s =b)

+gin(s=¢)=sging}.
==cos(s—l\)= sin 3a
(SbesiBy N sin Asin3bginic

_ tanda _2sin3acosibcosic
T —cosS n

{sins =gin(s —a)+sin(s—b)

+gin(s=c)}

1
2n
@®(cotr +tan R)? _
=4—1112(sina.+sin b4sgine)2=1.
@®(cotry —tanR)?
=‘T122(sinb+sin c=gina)2-1.

[} B

@RE=FA ABC=(A+B+C~x)r2
@LAK={Z~(n=2)r}r2
(18 = B% A% A2l
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